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General Instructions :

Read the following instructions very carefully and strictly follow them :

{1}  This question paper contains five Sections : A, B, C, D and E. Each Section
is compulsory. However, there are intemal choices in some questions.

(i) Sectlon 'A' has 10 MCQ's, 8 Objective Type Question and 2 Assertion-
Reason based questions of 1 mark each.

(i) Section ‘B' has 5 Very Short Answer (VSA) type questions of 2 marks each,

~ {iv) Section 'C' has 6 Short Answer (SA) type questions of 3 marks each.

2831

(v} Section 'D’' has 4 Long Answer (LA] type questions of 5 marks eqch.

(vi) Section 'E' has 3 source based/case based question 4 marks eqch with
sub-parts.

{vii} There is no overall choice. However, an intemal choice has been provided
in 2 questions in Section B, 2 questions in Section 'C, 2 guestions in
Section 'D’,

{viii} Use of calculator is not permitted.
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SECTION - A

R JEfre gl 3 g 2

Answer the following objective type questions :

L WM A=(3,57,9,11,B=7,9 11,13, C= {11, 13, 15 8% D = 115, 17), 7@

3. AR AN A=x,y, 29K B={1,2, @AY B2 d4t & wem o -

(AuD)n(Bu QB :
(A) {3,5,9) (B)
(C) 7,9, 11,15 , (D)

1
{7, 11, 15
o
iTA=13,5,7,9, 11}, B=17,9, 11,13}, C= {11, 13, 15} and D = {15, 17}, find
(AuDn(BuQ:

) 3,5,9 (B] {7, 11, 15}

(C) (7,9, 11,15 D) ¢

M U=(1,2,3,4,56,7,89A-{1,2,3,4,B=(2,4,6,8 8 C=13,4, 5. 6},
@@ (B-Q&m

(A) 1,3,4,5,6,7,9) B) {1,4,7,8,9

(C) (3,4,6,8 D) {2,4,5,6,7,8)

L‘Ct U&{112)3)4151 61 ?n 81 g}: A: {I!EI 3? q}k Bg {‘21‘ 4? 6* 8] and C={3l 41’ 5! 6’
find (B-0Q:

(A} {1,3,4,5,6,7, 9 (B}
{C) {3,4,6, 8}

1

¥

{1,4,7,8, 9
(D) {2,4,5,6,7, 8

1
(A} 6 (B) 9

(C) 24 (D) 64

Let A= {x, y, 2 and B={1, 2|, then number of relations from A into Bwill be -
(A) 6 (B} 9
(C) 24 (D) 64

P.T.0
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4. B -1930° frg aguter ¥ faa ¥ 7 | | !
) e Tt — B) fecha gt
() i gl () =g g
In which quadrant do the angle -1930° lie :
(A) 1st quadrant (B) 2nd quadrant
(C} 3rd quadrant (D} 4th quadranﬁ

5. 5-3i)° W a+ibd & ¥ g H !

(A) O+ 0i (B) -10+ 198i
(C) 10~ 198i (D) -10 - 198
Write (5 —31’}3 in the formofa +ib:
(A) 0+0i B) -10+198i
(C) 10-198i (D) -10-198i

6. T O A TR gD O Tl O o A AW TR w B A ded oo ae ad
oo & 2 ¥0 9 ¥ D g A FwA dwg T A @l B & oo
61 T B | 1
(a) 9 | (B) 6 i
(C) 4 @t | (D) 10 &
The longest side of a triangle is 3 times the shortest side and the third side is
2 cm shorter than the longest side. If the perimeter of the triangle is atleast
61 cm. Find the minimum length of the shortest side :
(A) 9em | (B) 6cm
(€) 4 cm - (D) 10cm

7. A% "P5=42"Py,n>4, AnH AT 8

2631

(A) 10 | B) 6
(€) O | (D) 1
If nﬂs;42nfpasﬂ>4,thevalueofnis:

(A) 10 (B) 6
) O D) 1
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s* (ngyJ?%mﬁnmsﬁwmﬂm=

9.

(C) 105xy® | s (D) 105x%y

7
Find 5th term in binomial expansion of {—3"-:- —-SyJ :

(A) 105x‘3y3 : (B) 105x3y4
(€ 105xy° (D) 105x%y
1 1 1 1
G.P. =, =, —, . #H A T —m B 7
3’9’27 = 19683%
Ay 78 (B) 54t
(C) off (D) 4t
Which term of the G, P. &, =, s L o
e T Y A 19683
A Tth | (B) 5th
(C) 9th (D) 4th

1§ A g A P.50913,17, ... .3 17 7 & g T :

(A) 629 | (B) 529
(C) 615 (D) 0
Find the sum of 17 terms of the A. P. 5,9, 13, 17, ......
(A) 629 (B) 529

(C) 615 D) o

2831
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17.

18.
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TR 3 FiA 1

If A. M. and G. M. of roots of a quadratic equation are 8 and 5, respectively,
then obtain the quadratic equation.

, 2 y?
i .%+b =1(a>b) ¥ P @ W R J
a

2

Write equation of dircctrix of an ellipse = - L =1{a>b).
a? b?

X
.oat -1
lim =7 1
x-+0 X

X
i S

X -4} X

cosec x H FIFTR TF FIAW 1

Find the derivative of cosee x.

mnmﬁmﬁwmmm

Find the mean of {irst n natural numbers.

UH U8 B GH A 8, 3 A O qEm A @ wieEw e &

A die is thrown, find the probability that a number less than 3 will appear.

HOE T2 BN W NeE F& e 7

If an event is impossible, then what will be its probability ?

P(A—mam maarﬁmm%saﬁAmBWsz & AA or

B
mﬁﬁm

1

. _3 1 . |

Given PlA)= 3 and P{B)= re find QRAor B) . i{ Aand Bare mutually exclusive
events.
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B (A): T (4x~ 3, )= (3x+ 5,-2), @ x= 23 y=-2 1

W(R): T2 A=) 3,4 TAXARY-1, 1), (-1, 3), (-1, 4), (3, -1), (4, -1), (3, 4}
(A] (A) T % (R) B9 & (R), (A) & =81 =iem 3

(B) (A} W= 2, (R) T &; (R), (A) 1 ¥4 ey 79 &

(C) (A)T= %, (R) 75 B

(D) (A) ¥ %, (R) 53 ¥

Assertion (A): If (4x+ 3, y) = (3x+ 5,-2), then x= 2 and y = -2

Reason (R}: 1fA=-1,3, 4} then Ax Ais {(-1, -1), (-1, 3), (-1, 4), (3, -1),
(%, =1}, (3, 4))

(A} (A)is true, (R) is true; (R) is correct explanation of (A)
(B) (A} is true, (R) is true; (R} is not a correct explanation of (A)
(C} {A)is truc, (R) is false

(D] (A) is false, (R} 1s truc

FfhEea (A) : 100 & 37 W4 weAell & qYe)

T (R) : O3 T & GEONNG W F WIS Fed By
A) (A)TE 2, (R) T & (R), (A) T 78 = 3

(B) (A) 9 8, (R) ¥4 &; (R), (A) F1 58 arem 78 b

(C) (A)FE R, (R) 753 ¥

(D) (A) T L, (R) 7 B

P.T.Q
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Assertion (A) : The collection of all natural numbers less than 100 is a set.

Reason (R) : A sct is a well defined collection of thg distinct objects.
(A) (A} is true, (R) is true; (R) is correct explanation of (A)

(B) (A} is true, (R) is true; {R) is not a correct explanation of (A)

(C) (A)is true, (R) is false
[lj) (A} is false, (R) is true
g5 -g
SECTION-B
frfefee & @ ol & [0 9ugH &9 o @i 2
i) (AuB (i) AnB
Draw appropriate Venn diagram {or each of following :
B (Avp {i) AnB
~x%4x-2=0
Solve :
~x%+x-2=0
Y]
OR
A H | 2
(1 (1Y) (-4 |
(3 +:3J+{4+:-§Hq(w+x)
Simplify :
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24,

25,
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5 Y 2
S-2x x
o
3 6 >
Solve :
9-2x _x
< —_
3 6 >
| 3 3 |
ﬂ“ilﬁ{ﬂ“ﬁ&g,g, ........ %WWW%WWW%@W?E
] by
How many terms of the G. P. 3, g—, i%, e are needed to give the sum
3069 |
512
R F GBS AR, Rrew @ (0, 0), (2, 3) ¥ T E AR oE xa@ B

FRa B ' , 2

Find the equation of parabola with vertex at the origin, passing through (2, 3)
and axis along x-axis.

gd]
OR ' ‘ /
Ru Tq wamy x? =-16y % W & FRa% aw Foar & ofisw T fiftm 2
Find the coordinates of focus and equation of directrix of parabola x? = -16y .
[CACR |
SECTION-C A
26. 65 @Mt & W § 40 W fbe we 3, 10 FRe 7 AW A B o F ¥ amw
F po e 3w Gz B Y, B T o e 2P v A B 7 ;

2631

In a group of 65 people, 40 like cricket, 10 like both cricket and tennis. How
many like tennis only and not cricket ? How many like tennis ?

P.T.O
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27. TR W ) = ~|x | F 5 T GRE T AR TG H AT TR

=-5 8 3

Find domain and range of real function flx) = -|x |. Also find valuc of funcijop

at x = -5,

zs;nﬁmm%mhwwmmﬁﬁm: 3

29&

2631

T VYne N

1+2+3+....+n<= (2n+1)?
Y
OR
124324524 +pn-12 - R-D2n )
3
W VY ne N
Prove the following by using the principle of mathematical induction, for
allne N:
12482452 4ot n 12 = 20 = 1)2n 4 )
3
x &1 98 WH T i R
e 1 (x, -1), h(2,1) ¥R (4, 5) 0% Y 7 3 3

Find the valuc of x-for which the points (x, ~1), (2 » 1) and (4, 5) are collinear.
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30. & H: lim f(x) 7=y -
x=]
2
=y X
-X" -1
Find : lim f{x} where :
X~
2
X -1
flx)=1 Y
- x% o
UL
OR

(5x3 + 3x = 1)(x - |) T T TR B

Find the derivative of (5x 3 i3x- Nix - 1),

31. qfwa?m?a@rﬁ%?ﬁmm !*(!‘)»«-Gﬁﬂ’(mfﬂm

Y
i) ME@P
(i) AETE W FE)

If E and F are cvents such that P(E}*m P{F)u««?« and AEand F)=

find :
) AEor A
i) Anot E and not )

2831

xsl
x>1

x<l
x>1

1
8’

mEH

2631

P.T.0
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SECTION-D
Rre #ifw 2+3=5
) cosdx=1-8sin? xcos? x ;

(it} cos? 2x - cos? Bx = sindxsin8x

Prove that @
(i} cosd4x=1- 8sin? xcos® x
{n) cos? 2x - cos? 6x = sin4x sin 8x

o ;‘ ;e :w'
faw sl & w0 A W (o« b - @-b) F @ F AW V3. J3) W3- 1)
F AF | AR 5

Using  binomial  theorem,  find  {a+h)" (@ -b". Hencee evaluate

WG+ 3] -5 -3l

Y

OR
A 8, 88, 888, 8KES, .......... & n @ § aAm IA Faw 3
Find the sum of n terms of the sequence 8, 88, 888, 8888, .......... .

i

A POR® ot A2, 1), (-2, 3) 8T R, 5) 21 & R, Q& 9 a=h wifms |1 Ao
;a ﬂaﬁﬂ;’l 5
The vertices of a A PQR are A2, 1}, Q{-2, 3) and R(4, 5). Find equation of the
median through the vertex Rand Q.

LG

OR

& T WA 15 + 8y - 34 = 0 3T 155+ 8y + 31 = 08 91 & 7h ww Fhrw S

Find the distance between the parallel lines 15x = 8y - 34 = 0 and
15x + Hy*ﬁ!“ﬁ.
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35. Wmﬁ@%ﬁﬂmﬁﬂmmﬁm:
T
Xi 8 13 18 23
fi 10 15 10 6
Calculate standard deviation for the following data :
X; 8 13 18 23
fi 10. 15 10 6
g - g
SECTION-E

2631

36. T fifew o @1 & 9 FOEER @ & T @ W Ra T % g 10 Hlo

gl B MR W 3K &= W 3 Hlo Tl 2

T W B OIS
(i) o orEER 7% o ¥ R ¥ sww e 7 am ?

) % & AT & @ A FAR 2 Fo & ?

2631

P.T.0.
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a semi-clliptical bridge. This

(14)

A civil engincer is given a work of renovating
bridge is 10 m wide at the base and 3 m high at the centre.

e m

Answer the following questions :
(i)  What could be the equation of the clliptical curve showing in the figure ?
(i) At what distance from the centre, the height of the bridge would be 2 m ?

oF P 3 fawifedl 3 uiem 2w # amE w5 faemEl A 7 5 dfe d 4 AR @y

By

a7, faemet B, 4 gtz § 3 g Rerw &n g @ i e c, 3 dfe # 2 ar e
T GEA ¢l 4

In ferfy @ Fr=fofm & e it
() s B A, B 3R C 8% &1 B &
(i) &9 9 3 TRES B BA CF Fom @ W AT T
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A coach is training 3 players. He observes that the player A can hit a target 4

times in 5 shots, player B can hit 3 times in 4 shots and the player C can hit 2
times in 3 shots,

-
o
:n ...-qn‘- - - —

-

%{bp.
)

From this situation answer the following questions :
(i)  Probability that A, B and C all will hit target.
(i) What is probability that B, C will hit and A will lose ?

38. TF WigHl 3 @ § [ W ¢ & U0 ¥ W oo @ w R @ w3
[T SEH SR BT UH B W W oo X P AT B AR cosec o = V3 &R
secB-—'2%I 4

2631 P.T.O.
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A submarine is moving in such a way that at 2 paf dcu}%r moment of time j;,
angle of elevation for two ships, situated at different positions on the surface of
water is a and P respectively, if cosec a = J3 and sec = 2.

Answer the following questions :
()  What will be the value of sec « ?
(i) What will be the measure of the angle f§ ?

(1)) What will be the value tan « ?



